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Introduction

In accordance to the revision in section 4.6 of TS 34.121 v1.2.0, inner loop power control has to be disabled during the measurement of the average power of UL-DPCH (I-ch) and the UL-DPCCH (Q-ch). This is because the measured value of the difference between Py and Px (Section 4.6.2 of TS 34.121) should exclude the 1dB power change due to inner loop power control. 

The disabling of inner loop power control could be implemented by a control method of 0dB step size inner loop power control as stated in the RAN WG1 document[1]. This is done by setting TPC_cmd equals 0 so that the transmit power of the uplink DPCCH and uplink DPDCHs shall be unchanged. There are two algorithms supported by the UE for deriving a TPC_cmd as described in subclauses 5.1.2.2.2 and 5.1.2.2.3[1]. However, only Algorithm 2 can be used in order to derive TPC_cmd = 0.[1] The detail of Algorithm 2 [1] can be found on the subsequent page.

Proposal

4.6.4.2 Procedure of DTX Measurement

(a) Algorithm 2 for processing TPC commands is used.

(b) Sending alternating “00” and “11” TPC bits so as to satisfy the condition of obtaining TPC_cmd = 0.

(c) Measure the average output power at the antenna connector of the MS in two cases, both DPDCH and         DPCCH are ON and only DPCCH is ON.

Reference

[1]

TS 25.214 v1.2.2 (1999-09) Physical layer procedures (FDD), RAN WG1.

TS 25.214 v1.2.2

5.1.2.2.3 Algorithm 2 for processing TPC commands

Note : Algorithm 2 makes it possible to emulate smaller step sizes than the minimum power control step specified in section 5.1.2.2.1, or to turn off uplink power control by transmitting an alternating series of TPC commands.  

< The use or otherwise of Algorithm 2 in soft handover is FFS. >
5.1.2.2.3.1 Derivation of TPC_cmd when only one TPC command is received in each slot

When a UE is not in soft handover, only one TPC command will be received in each slot. In this case, the UE shall process received TPC commands on a 5-slot cycle, where the sets of 5 slots shall be aligned to the frame boundaries and there shall be no overlap between each set of 5 slots.

The value of TPC_cmd is derived as follows:

· For the first 4 slots of a set, TPC_cmd = 0.

· For the fifth slot of a set, the UE uses hard decisions on each of the 5 received TPC commands as follows:

· If all 5 hard decisions within a set are 1 then TPC_cmd = 1 in the 5th slot. 

· If all 5 hard decisions within a set are 0 then TPC_cmd = -1 in the 5th slot. 

· Otherwise, TPC_cmd = 0 in the 5th slot.
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Transmit power of the uplink DPDCHs and DPCCH shall be unchanged when TPC_cmd = 0





Conversely, transmit power of the uplink DPDCHs and DPCCH shall be decreased by (TPC dB when TPC_cmd = -1





Transmit power of the uplink DPDCHs and DPCCH shall be increased by (TPC dB when TPC_cmd = 1 
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Figure A














NOTE: The step size (TPC is a UE specified parameter, under the control of UTRAN, can have the values of 1 dB or 2dB.
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